


I"materiali"di"+po"diamagne+co"in"assenza"di"campi"esterni"presentano"un"momento"
magne+co"nullo.""Si"ha"una"compensazione"tra"il"momento"magne+co"degli"ele7roni"
e"dei"singoli"atomi."
In"presenza"di"un"campo"magne+co"esterno"intenso""il"materiale"presenta"una"
magne+zzazione"complessiva"che"si"oppone"al"campo"magne+co"esterno"dovuta"ad"
una"mancata"compensazione"tra"i"due"momen+"magne+ci"a"cara7ere"
smagne+zzante."
In"tal"caso"la"susce9vità"è"nega+va."Quindi"la"magne+zzazione"del"materiale"espressa"
come:"

M = χMH

Dove""la"susce9vità"assume"valori"dell’oridine"di"@10@4"



I"materiali"di"+po"paramagne+co"in"assenza"di"campi"esterni"presentano"un"momento"
magne+co"nullo."""
In"presenza"di"un"campo"magne+co"esterno"intenso""il"materiale"presenta"una"
magne+zzazione"complessiva"dovuta"ad"un"allineamento"parziale"dei"dipoli"magne+ci"
con"il"campo"magne+co"esterno"a"cara7ere"magne+zzante."
In"tal"caso"la"susce9vità"è"posi+va."Quindi"la"magne+zzazione"del"materiale"espressa"
come:"

M = χMH

Dove""la"susce9vità"assume"valori"dell’oridine"di""10@6"



I"materiali"di"+po"ferromagne+co"presentano"un"comportamento"magne+co"
par+colare."Allo"stato"na+vo"son"presen+"dei"domini","de9"di"Weiss"di"dimensione"
dai"10@3"a"10"@6"m."Tali"domini"presentano"M"orienta+"in"modo"da"produrre"una"
magne+zzazione"macroscopicamente"nulla."

So7o"l’azione"di"un"campo"magne+co"esterno"i"domini"si"orientano"in"modo"da"
produrre"una"magne+zzazione."Nel"caso"di"annullamento"del"campo"magne+co"
esterno"i"domini"conservano"il"proprio"orientamento"generando"un"campo"
magne+co."
"
In"questo"caso"la"susce9vità"assume"valori"molto"eleva+"dell’ordine"di""









Cara7eris+ca"di"magne+zzazione"



Materiali"Ferromagne+ci"dolci:"
Elevata"permeabilità"Magne+ca"e"basso"campo"coerci+vo"

Materiali"Ferromagne+ci"duri:"
Elevata"Induzione"residua"e"campo"coerci+vo"



Alcuni"materiali""
ferromagne+ci"dolci"



Cara7eris+che"di"magne+zzazione"di"materiali"dolci"



Perdite"per"isteresi""

Le"perdite"per"isteresi"sono"connesse"alla"magne+zzazione"del"materiale."
Considerando"un"processo"ciclico"di"magne+zzazione"che"ci"porta"da"valore"P("Hmax,"
Bmax)"ad"R"e"poi"a"P""il"lavoro"compiuto"è"pari"all’integrale"dell’energia"magne+ca.""

L’integrale"è"non"nullo"ed"è"pari"
all’area"interna"al"ciclo."
"
Questa"viene"rappresentata"dalla"
formula"di"Steinmetz"








